4. Root jumping

In some case where the function f(x) is oscillating and has a
number of roots, one may choose an initial guess close to a root.
However, the guesses may jump and converge to some other root.
For example for solving the equation sinx =0 if you choose
X, = 2.4z = (7.539822) as an initial guess, it converges to the root
of x=0 as shown in Table 4 and Figure 6. However, one may

have chosen this as an initial guess to converge to
X =27 =6.2831853.

Table 4 Root jumping in Newton-Raphson method.
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Figure 6 Root jJumping from intended location of root for
f(x)=sinx=0.



